



namn: _____

Datum: _____ Poäng: _____

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} =$$

$$\left(\frac{1}{3}\right)^3 - \frac{3}{5} =$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{3}{4}\right) =$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{4}\right) =$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} =$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} =$$

$$\left(-\frac{1}{2}\right)^0 - \frac{3}{5} =$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) =$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} =$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{2}{5}\right) =$$

$$\left(\frac{1}{4}\right) + \frac{1}{2} =$$

$$\left(-\frac{3}{4}\right)^2 + \frac{3}{4} =$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{3}\right) =$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{3} =$$

$$\left(\frac{1}{2}\right)^0 + \frac{3}{4} =$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) =$$



namn: _____

Datum: _____ Poäng: _____

$$\left(-\frac{1}{2}\right)^0 + \left(-\frac{1}{3}\right) = \frac{2}{3}$$

$$\left(-\frac{3}{4}\right)^0 - \frac{1}{2} = \frac{1}{2}$$

$$\left(\frac{1}{3}\right)^3 - \frac{3}{5} = \left(-\frac{76}{135}\right)$$

$$\left(-\frac{1}{4}\right)^0 - \left(-\frac{3}{4}\right) = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(\frac{1}{6}\right)^2 - \left(-\frac{1}{4}\right) = \frac{5}{18}$$

$$\left(-\frac{1}{3}\right)^3 + \frac{1}{2} = \frac{25}{54}$$

$$\left(\frac{1}{6}\right)^2 + \frac{1}{2} = \frac{19}{36}$$

$$\left(-\frac{1}{2}\right)^0 - \frac{3}{5} = \frac{2}{5}$$

$$\left(\frac{1}{2}\right)^2 - \left(-\frac{3}{4}\right) = 1$$

$$\left(-\frac{3}{4}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{3}{80}\right)$$

$$\left(\frac{3}{5}\right)^2 - \frac{1}{5} = \frac{4}{25}$$

$$\left(\frac{1}{4}\right) - \left(-\frac{1}{2}\right) = \frac{3}{4}$$

$$\left(-\frac{1}{3}\right) - \left(-\frac{2}{5}\right) = \frac{1}{15}$$

$$\left(\frac{1}{4}\right) + \frac{1}{2} = \frac{3}{4}$$

$$\left(-\frac{3}{4}\right)^2 + \frac{3}{4} = \frac{21}{16} = 1\frac{5}{16}$$

$$\left(\frac{1}{5}\right) + \left(-\frac{1}{3}\right) = \left(-\frac{2}{15}\right)$$

$$\left(-\frac{2}{5}\right)^3 + \left(-\frac{1}{6}\right) = \left(-\frac{173}{750}\right)$$

$$\left(\frac{2}{5}\right)^3 - \frac{1}{3} = \left(-\frac{101}{375}\right)$$

$$\left(\frac{1}{2}\right)^0 + \frac{3}{4} = \frac{7}{4} = 1\frac{3}{4}$$

$$\left(-\frac{1}{2}\right)^2 - \left(-\frac{1}{6}\right) = \frac{5}{12}$$